Natio;.;i

Hardware"

A

3/32"—»
2mm

~
1-7/32" 1-17/32"
30,6 mm 39,1 mm
<> 4
6-21/32"
169,2 mm
10-3/32" 7-3/4"
256 mm 196,9 mm
. R 1-;/32" Y
v h ov 30,5mm
O 50,8 mm
v e Material: Steel
2,5 mm —p! le— Finish: Black
Fasteners: (4) Lag Screw, Hex, 5/16 x 1-1/2"
(4) Bolt, Hex, 5/16-24 x 1-1/2", UNF-2A
(4) Washer, 5/16 - 24, Bolt
(4) Nut, Hex, 5/16 - 24, UNF-2B
(12) Tapping Screw, Pan Head, #8 x 3/4", Type AB
(12) Safety Cap
1 DO NOT SCALE V8413 N109-017
Revision Dimensions are nominal Family No. SKU
d subject to change. . .
September 2015 e e Spear Gate Kit with Spear Pull
Date ©2015 Spectrum Brands, Inc. Description




